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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of seventy five multiple-choice type of

questions. 3.

At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
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the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet

(ii)

(iii)

Number should be entered on this Test Booklet. 4.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ @

where (C) is the correct response.
Your responses to the items are to be indicated in the OMR Answer

Sheet given to you. If you mark at any place other than in the | 5.

circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant

entries, which may disclose your identity, you will render yourself | 8.

liable to disqualification.
The candidate must handover the OMR Answer Sheet to the

invigilators at the end of the examination compulsorily and | g

must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.
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The process of attaining one’s existence
as per existentialism is

(A) Essence; struggle; pain and pleasure;
loneliness

(B) Loneliness; pain and pleasure;
struggle; essence

(C) Loneliness; struggle; pain and
pleasure; essence

(D) Essence; pain and pleasure; struggle;
loneliness

. Which of the following statements are true

to both Hindu and Buddhist philosophers ?
1. both gave importance to Guru

2. both believe in salvation

3. both accept the immortality of soul

4. both gave importance to meditation
A
B

(A) 1,2 and 4 are correct
(B)
(C) 1,3 and 4 are correct
(D)

2 and 4 are correct

D) 2, 3 and 4 are correct

. The philosophical view point represented

most frequently in our current classroom
practices is

(A) Experimentalism
(B) Essentialism
(C) Eclecticism
(D)

D) Idealism

(A) D850 ; SFoero ; 2¢ KoBAXL HDoSRE ;
Dseotho

(B) Oscos0 ; e¢s $08a% Ho&e ; AFooero |
50

(C) Ssrotho ; SForero ; e3¢ S520050 HoSRE ;
50

(D) 385500 ; 207¢3 $5080%0 $oSp ; Foreso ;
Dseotho

. PO 5000 &7 HERBOGOE So0b TS O

B0 BB 9
1. 3D MDD STBBITD
2. RDHEP 5003 B0oT D
3. U e B850 G ohSBTED
4. FEDET oIS IRBITHD
(A) 1, 2550000 4 535
(B) 2 508050 4 35059
(C) 1, 3155001 4 5052
(D) 2, 3155001 4 5052

. 2005705 SRS KO eBsed BB @E0

Har0D T HHE0 O ?
(A) BATTEEIEE0
(B) emidsTmresn

(C) oigsomresso

(D) grsaresson
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4,

A knowledge of education and philosophy
is essential to a teacher

(A) To know the interaction of philosophy
with education

(B) To develop a philosophy of one’s own
(C) To prescribe the curriculum

(D) All the above

. Arrange the three step process of triple

transformation of the individual in a
sequence as envisaged by Aurobindo.

(A) Supramental, psychic and spiritual
(B) Psychic, spiritual and supramental
(C) Spiritual, psychic and supramental

(D) Psychic, supramental and spiritual

. Socialization is the process of

(A) bringing children to social reality
(B) improving social skills of children

(C) developing social awareness among
children

(D) acquainting children to social living

. Modernization is the process of

(A) Capitalization
(B) Change and adaptation
(C) Sanskritisation

(D) Stratification

4, e@“’c?éoi)oé’ﬁ A5 HBo00K0 BT D000

B30 oD ?

(A) 8285750 5800 gL G0, SN 1S5
BednsSdd

(B) 81 2500 5o efnd BoSHms
(C) Jovg esds:50 IFowcS

(D) s

. ég% R00°C080 HOHTIT eS0EE BT HODD

BT FFTe (PG KB S0 HYoDed
(A) SIS, ST 5080 TSy
(B) SIS, esprdy 5080 eQSTHNE
(C) Srgdys, 598 900500 SGRTHHDE

(D) B9, ORRITHRE BB B

. 0208558 (B e
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8.

10.

11.

12.

Which of the following is not an obstacle

to social change ?
(A) traditions (B) prejudices

(C) customs (D) novelty

. Equality in education means

(A) Providing equal amount of education
to all the people in the country

(B) Providing the amount of education
suitable to the individual abilities

(C) Providing common education to all the
people upto a specified level

(D) None of the above

In Indian society, caste is
(A) a closed society

(B
(C
(

D) a dead society

a open society
a dynamic society

)
)
)
)

The concept of Jung’s ‘Shadow’

resembles Freud’s concept of
(A) Libido

(B) Id

(C)

(D) Super Ego

The magnitude of an emitted learned
response is termed as

(A) Reaction amplitude

(B) Reaction latency

(C) Resistance to extinction

(D) Probability of response

8.

10.

11.

12.
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3)655263 9080w
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Read the passage below, and answer the 208 FEErm) DD W VST ST

questions that foIIov_v (from 13 to 16) based 13 5006 16 5055 Mo (5500 SErGTes 000908
on your understanding.

2.8 ATTEHO ST FPEY B WS I, T8

A group of students went on a project work. 5005 T o SETTOR) D DB,

Out of them Sandhya was seriously > o G55 S5 s o
documenting in the lap-top. Radha was TG S0y 3880 0 00, LB

eating and calling one or the other to join RIRDEBT YIOT WSS IO GANEICET
her. Mithra was feeling shy, listening intently @B FE0B. 08 T erBrod YN
to the cell phone and fussing over, at times, B3 OIRO DEIHEI B

on phone. Latha never left Priya except
when she had to attend to the nature calls. | 13- T°6 2503 eSS (252 Fobod ?

A) 55 Dpreoso
13. Radha is now motivated to meet (A) &5 rdoo
(A) her friends B) % @ ¢dog esdoedy

(B)
B) her primary need (C) &0 eseo
(D)

(B)

(C) herteam D) &5 g™

(D) her relaxation 14. 08 208 %3S oS &0 9
14. Latha is in (A) &G erdso

(A) Need for attention (B) /605 e955:380

(B) Need for recognition (C) Toriddy s

(C) Need for companionship (D) eeagior esnso

(D) Need for learning 15. 5005, a8, S0
15. Sandhya’s motive is (A) esgsigso

(A) domination (B) s

(B) achievement (C) sobiss

(C) dependence (D) essos

(D) confidence

16. 208 G008, (2550
(A) Eo
(B) (om0 $0B0 Tyogn
(©) &9
(D)

16. Mithra’s motive is
(A) security

(B) love and affection

(C) freedom

(D) social approval D) sarassigd

1 6 A-06-03|




17.

18.

19.

The process of learning according to Hull
1. Reaction potential
2. Habit strength
3. Momentary effective reaction potential
4. Effective reaction potential
(A) 1,2,3,4
(B) 2,1,4,3
(C) 1,3,4,2
(D) 4,3,2,1
Identify the correct sequence in systematic
approach technique for better memory.
(A) Read, survey, reflect, question
(B) Read, question, survey, reflect
(C) Survey, question, read, reflect
(D) Read, reflect, question, survey
Identify the correct sequence in trait
development.

(A) Introvert, feels shy to answer, shy in
all classes, shyness

(B) Shy in all classes, shyness, feels shy

to answer, introvert

(C) Feels shy to answer, shy in all

classes, shyness, introvert

(D) Shyness, feels shy to answer, shy in

all classes, introvert

17.

18.

19.

S 55750 eaiRT RHEAD B0
1. Bduog s
2. ©OTD 290
3. SE3530 BarSyr0s HSUT ¥
4. Beroro Bouor e
(A) 1,2,3,4
(B) 2,1,4,3
) 1,3,4,2
(D) 4,3,2,1
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20.

21.

22,

In the operant conditioning model, which of
the following are secondary reinforcers ?

1. food

2. water

3. sound

4. light

(A) 1and 2 (B) 2and 3
(C) 3and 4 (D) 1and 4

Identify the behaviour which is correctly
matching with the type of learning.

(A) Use of positive reinforcement to
increase the frequency of a desired
response — discriminated avoidance

learning
Use of punishment to stop performing

an undesired response —
Discriminated Omission learning

(B)

(C) Use of a reward to stop performing

undesired response — Escape
learning

(D) Use of a reward to withhold undesired
response — Omission learning

Identify the correct order from Gagne’s
hierarchy in learning.

(A) Conceptlearning, signal learning, rule
learning, problem solving learning

(B) Signallearning, concept learning, rule
learning, problem solving learning

(C) Concept learning, rule learning,
signal learning, problem solving
learning

(D) Rule learning, signal learning,
concept learning, problem solving
learning

20.

21.

22,

TEFIEE D0 5505008 200 Te3E° DD Foes
DRGTO

1. =580

2. o

3. %0

4, 08

(A) 108002
(C) 3500w 4

(B) 2 55005 3
(D) 1 500050 4
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23.

24.

25.

Which behaviour is correctly matching
with the ability ?

(A) Person who can identify logical
sequence has ..... Numerical ability

(B) Person who can imagine how an
object looks has .... Spatial ability

(C) Person who can do fast calculations
has ........ Verbal ability

(D) Person who can comprehend well
what is heard once has .... Reasoning

ability
The variable which is not an intervening
variable in Hull’s theory of learning
(A) Reaction potential
(B) Stimulus intensity dynamism
(C)
(D)

Number of prior reinforcements
Incentive motivation

Identify the correct defence mechanism
matching with the described behaviour

(A) Thinking and acting as opposed to
one’s
Rationalization

unconscious wish

(B) Justifying one’s inappropriate
behaviour .... Reaction formation

(C) Reverting to the behaviour of an
earlier stage of life.... Regression

(D) Devoting a great deal of energy to
overcome one’s limitation

Repression

23.

24.

25.
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26.

27.

28.

29.

Guidance oriented curriculum is to
provide more opportunity

(A) to meet the scarcity of counsellors
(B) to lessen the burden of the teachers

(C) to promote the self development of
students

(D) to meet the increasing students
problems

F.C. Thorne was the exponent of

(A) Directive counselling

(B) Non-directive counselling

(C)

(D)

D) Group counselling

Eclectic counselling

Counselling is not

1. giving information

2. giving advice

3. influencing counsellee’s attitudes

4. helping the counsellee to know
himself

(A) 1,2and 4 (B) 1,2and 3

(C) 1,3and 4 (D) 2,3and 4

Assertion (A) : Guidance at secondary
school level is given to
identify the strength, but
not weaknesses of the

students

Reason (R): This is to develop

realistic self-concepts
A) Ais wrong and R is correct
B
C
D

A is right and R is wrong
Both A and R are correct

(A)
(B)
(©)
(D)

Both A and R are wrong

26.

27.

28.

29.
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30.

31.

32.

Sequence the counselling process

1. Use simple tools to realise the
possibilities
2. Recognize the causes

3. Help them to choose life styles to
prevent the problem

4. Identification of the problem

1,2,3,4 B) 2,1,3,4
4.2.1,3 (D) 4,3,2,1

If a researcher selected ten schools at
random and interviewed each of the

teachers in the ten schools, the researcher
used

(A) simple random sampling
(B) stratified random sampling
(C) two stage random sampling
(D)

D) cluster random sampling

Which of the following statements is correct ?

1. Historical research used criticism of
data

2. Survey studies have low validity

3. Findings of an experimental study can
be verified

4. Randomisation procedures provide
sufficient experimental control

1,2and 3
1,2and 4

1,3and 4

All the above

30. XooEes (Counselling) EIE0 (E55° HGowocs

31.

32.

1. SoeDoBR T3 RENDE DS o0ad
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33.

When an ethnographic researcher
presents an insiders perspective of reality,
he provides

A) etic perspective

)

B) emic perspective

C) description of culture
)

(
(
(
(

D) contextualisation

33.

BTOSerB0 THOW BOF D TP Iy,
©OBSON SYNTD) BOANEY w8 S0 38

) 90B005E0 ?
(A) 235 (Etic) csyzemo
(B) 2205 (Emic) csysiessans
(C) Ro® 95

(D)

D éoééaﬁdm

34. Match the following : 34. 3065 oA POSONER BENCHE |
H hesi T fH hesi
ypothesis ype of Hypothesis 505 50y U0
a. There exists no 1. Directional
o . . a. 2Tt $000%0 erdse 1. JSBS HO5uYD
significant difference hypothesis “
between boys oGl TGRS ooz
and girls in their B S
achievement b. oSG Ton 2. ekolro 0800
b. Boys are inferior 2. Positive 27O K063 B I
to girls in their hypothesis b
achievement
C. 2Pl oA erdse 3. %5"265 NGRGY
c. There would be a 3. Null hypothesis
- : TG s’
significant difference ®
in the achievement of @05 Be
boys and girls GOCIY)
d. Isthere any difference 4. Question form d. 2reodd S080kw erdse 4. (5T S8
in the achievement hypothesis GRS po0d g RSSO
of boys and girls B GoT®
a b c d a b c
A4 3 1 2 A4 3 1 2
B2 3 4 1 B2 3 4 1
c©s 1 2 4 ©3 1 2 4
@3 4 2 D3 4 2 1
[m 1 12 A-06-03|




35.

36.

37.

A researcher who is working on ‘Right to
Work’ attended a national seminar on
“Right to Work” and planned to collect data
from all the participants. What type of
sample is it ?

(A) Random sample
(B)
(C)
(D)

D) Cluster sample

Incidental sample

Stratified sample

Which of the following is most likely to be
an experimental study ?

(A) A study to find out if use of concept
maps increases retention in students

(B) A study of the organisational climate
of high schools

(C) A study that compares fitness levels
of sports persons and non sports
persons

(D) A study to determine if students give
better ratings to lenient teachers

Which of the following statements
accurately describes test-retest reliability ?

(A) Measure of consistency of test scores
over time

(B) Measure of consistency of scores
obtained from two equivalent halves

of the same test

(C) Measure of consistency with which a
test measures a single construct or

concept

(D) Measure of degree of agreement
between two or more scores, judges

or raters

35.

36.

37.

28 BOF GO BT, & @0 BOFEO DT
VAT @B woFop wrdad wATES
FEXMPCEO B80S FE) D530 $0G
SRTTT WEBOTTO HEEO DG, WA0D el
205063 BHBADD0 ?

(A) aXPesyins BSBaLto

(B) o6y BSuanso

(C) 205 RwowKo
(D)

-%(

e

D) 505y8 (Cluster) awonso

300 T3S A0 PATTEHE eeSabTIS SR
Gnd ?

(A) ardae D@Berode IBFAY TS
TOES0 POTOROBHTY ? W XY
D008 NGRS DD koo

(B) &5y® FOT08 5Tt TTEHIET)
@(55013260 Daneso

(C) msethoon 5000 Ermstheos 20 08
Soggie FINIIS @;oooe?éo Fnmd DD
@6;550313260
Be3oh RUED eI ITOBEAS I
9362550313?50

205~ e30% DEFALTL SO $QowEDS $ob
T3S D TG0 HOT HOPB00B 9

(A) soE8008° OHERSe0 JOSEN ETNOT
B 550 Do

(B) 22 5555° Bock S50 g7mre 5006 ol
HEarse0 DOXIT O S0 SIS0 DoXEo

(C) e8dg3 om0 B eS80 Do Soddo
Daneo

(D) Boch S e90BE0E3 D50 NEses, e
S QTED0 BoGgTo SATE @;oaaeb S350

Daneo
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38.

39.

40.

The type of experimental design wherein

all participants participate in all

experimental treatment conditions is
(A) Factorial design
(B) Repeated measures design

(C) Replicated design

(D) Pretest- post test control-groups design
In experimental research studies the
impact of unwanted intervening variables

can be controlled by
(A) Selecting the appropriate sample

(B) Matching the groups on the basis of
unwanted variables

(C) Selecting stratified sample
(D) Ignoring the unwanted variables

In the process of vocationlisation of
education, the following programmes are

38.

39.

40.

OO
@) BOIPTPES S5 od” 50088, H5e0 G
BOTTTEE ST D506 ?
(A) ESom0eE S50
(B) DTorsyd $5dmre S
(C) o5 vxorw
(D) TS AEB-&BS EI, AAWoGB D80T

PONOUVY

BTG D05 ¢ 9o’ emropaabon
75500005 BET B0 T AOWOGOWHWI) ?
(A) 5B PAVLT) oD DEE0 THo°

(B) 9570500 DT80 eGS0 50Ttk
HOBTRS DADEO

(C) 2058 K& ok JowdE 9o o
(D) &mroind0k HETHE B8 DONHERLE0

Ox0o°

D0 TR0 D PEONE Lod SERTOR

implemented. Arrange them in €500 DI, T3 SOENTROT oS’ eosod
chronological order.
1. SrE80E g
1. Basic Education
2. SUPW
2. SUPW
3. DD 9587550
3. Work Experience
4. 22505°0E A
4. Multipurpose Education TS
(A) 1,4,3,2 A 1,4,3,2
(B) 2,1,4,3 ) 2,1,4,3
() 4,1,3,2 (©) 41,32
(D) 3,2,1,4 (b)3.2,1.4
[m 1 14 A-06-03|




41. Give the expanded form APPEP 41. APPEP % iyssstod
(A) Andhra Pradesh Pupils’ Education (A) @o@@aé@éb%ac‘é@@%@ﬁ@%
Policy
B) 50505 D9 doTraiineots Sroh
(B) Andhra Pradesh People’s (B) wogt S
Employment Policy (C) woGIEts 3500 eSS @Prrad
(C) Andhra Pradesh Primary Education (D) @o@@ag@mé O)g;;ﬁ@@ @ngg
Programme
(D) Andhra Pradesh Primary Education 42. LEP g
Project (A) eohgE IS5 S5R00e5 e
42. The aim of LEP is (B) oroiisef 2568 mooeS (@A
(A) Language Enhancement Policy (C) ooyoh ngyssﬁbo@j@m@%
(B) Language Enrichment Programme (D) ©Oy0h 2555 3o0e5 5o
(C) Learning Enhancement Policy
43. ECCE 222 $02080208 9
(D) Learning Enhancement Programme
(A) Soreresso
43. ECCE is related to
_ (B) Jorgerdy
(A) Evaluation
(B) Curriculum (C) Fremmo Adg
(C) School Education (D) Irss-rewee A&
(D) Pre-school Education 44, 200 TSE D 552S T EeToS Ao Eros”
44. |n this method of curriculum construction PSS’ (Repetition) ederdmess 2
repetition is inevitable (A) Srssmocs ot
(A) Unit approach
(B) 0% &d5050
(B) Topical approach
(C) 580 &850
(C) Spiral approach
D) 2oz
(D) None of the above (D) aocs:
[ 1 15 A-06-03 |




45.

46.

47.

Concentric approach is best suited for the
curriculum construction of

(A) Secondary level
(B)
(C)
(D)

Primary level

UG level

PG level

The major components of any curriculum
are

(A) Tests, examinations and results

(B) Objectives, contents,
experiences and evaluation

learning

(C) Students, teachers, parents and
administrators

(D) Sequence, and

organisation

integration

The most popular approach of educational
planning in India is

(A) Man-Power approach
(B) Social-demand approach
(C)
(D)

D) Structural approach

Rate of returns approach

45.

46.

47.

DE20(BE EDADBD D igooo oy (eI
Qo7 OPE08 ?

A) 2%oxd SO

B) @rgoy @gooo

(A)
(B)
(C) B0 s5ea¢s o

(D) dris 33e8¢s oo

DAY Bl RerOES’ B arreen
(A) D850, Z)ége)o S08a HOTe

(B) 057500, J50500, @85 eioered o000
QTG OES0

(©) QTR0 G E5OI000, IGO0
508050 $HOT0H

(D) (E557e0, B50550M00 B8O BgST0
gPOB0EE” W (@050 Tl Iy AnEs
RETIE

(A) Bos0xg88 esiaoo

(B) drowos Gsrob éxdisoo
(C)
(D)

D K)@&s?é§&§ &08500

PSPere 80 &R0

48. Institutional planning mainly aims at
1. needs of the institution 48. Qmééoggbd@w@g@@mmagge@gogoar_;
2. optimum utilization of available Gt e
1. Jorg D0y ebKTes
resource ®
3. involvement of all categories of stake 2. @0thertnd’ iy HOo SHEBID T
holders 3. &) 5o ofTrho SardEREo
4 . fulfilling the aspirations of all the 4. B506%) roodd esrotes 50 Da%eo
people of a country - -
A) 1,3,4 B) 2,3,4
() 1,3,4 ®) 23,4 ®) ®)
C) 3,4, 1 D) 1,2,3
(C) 3,4,1 (D) 1,2,3 © )
1 16 A-06-03|




49.

50.

51.

The following are the elements of
educational organisation

1. Human resources

2. Physical resources

3. Financial resources

4. Natural resources

A) 1,2and 3
B) 1,3and 4

C) 2,3and 4

(A)
(B)
(©)
(D) All the four

One of the aims of modern supervision is

(A) imposing the interests and intentions
of the supervisor

(B) helping the Headmasters and
teachers in solving the problems

(C) encouraging teachers and pupils to
contribute their ideas

(D) helping teachers and the community
to meet the situations successfully
Effective leadership reflects a balance of

1. Traits and skills

49.

50.

51.

DTGIHE0E DGITHHOT R SoTOToT e
1. 555 55

2. AL B

3. ep¥HHte

4. BES 950w

A) 1,2 58050 3
B) 1, 3 :500a% 4

C) 2, 3500 4

(A)
(B)
(€)
(D) 2% 220 Troor

SGoAE BEREEE D Do’ 2,563

(A) 66§3§§o§0 G300%), 8B Ho8aJ
SSEAC Yelatete

(B) 50050 0 C08” RS T EoK0dd
ei@"@zsdbo@& D800 E0

(C) eJrgrgarooes DTGEQO0 BB GFT OB
900N Fehprroidso

(D) 2000w JesolbnoBon I8 HE3
GO0 SRTarad gtico
(D575 R0 TS 0”00 o050

NIV AN

1. oferoz o0 5000 DYETGLD

2. Behaviours and styles 2. (58500 Bodakn dsoen
3. Situations and influences 3. $05%oe0 Bo00Ky ErReghaed
4. Traits and influences 4. ©FET0Ted 5000 (FrRIogHooed
(A) 3and 4 (B) 1and 2 (A) 350000 4 (B) 1 50800 2
(C) 2and 3 (D) 1 and 4 (C) 2 55801 3 (D) 1 58w 4
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52. Expand the acronym ‘PERT’

(A) Process Evaluation and Review
Technique

(B) Programme Evaluation and Revise
Technique

(C) Programme Evaluation and Review
Technique

(D) Process Evaluation and Revise
Technique

53. A reflexive decision maker can improve

his/her decision making skills by

(A) Procrastinating and taking plenty of
time

(B) Slowing down and spending more
time on gathering information and
analysing alternatives

(C) Speeding up the decision making
process

(D) Focussing on ‘satisfying’

54. In a distribution of T scores

(A) mean is always 50 and SD is 10
(B) mean is always 50 and SD is 5
(C)
(D)

D) mean is always 10 and SD is also 10

mean is always 10 and SD is 5

55. No test in education and psychology is
perfectly valid because of

1. overlapping of behaviours

2. final definition of traits is difficult

52. ‘PERT & d380%0d
(A) @R grengcdons ok 07y 8§
(B) &FTro g0 wob 630 33,5
(C) Frrso greoscdie wob 83 345
(D) PR gm0l ol 60 33,5

53. PArEE JParred SRoSITE TN,

DA PYETEOR IS DOCHDBELE OS> ?

A) TEor IE0 D D500 H0E%SEo HodoT
53
JHEODE To?

(B) v3>rorordy  WEoSEo  $odayos
BT ETOTeR S $H0RY) DD
JT°AOWE T0°

(C) 2Pk BELH0 BrsoBo Batbo Txo°
(D) éoééoé)@éo@§éoiﬁcéo

T Keade Hongod®

(A) ©0850¢5500 JYHPET 50 $o8a0
(EX0dD50 10

(B) ©0850¢ 5500 99 »E> 50 $o8050
(EX0D080 5

(C) wosBo@gsoo Jgpas 10 S0y
(EX0D080 5

(D) wosBo@gsoo dgypas 10 S0y
(EX0dD50 10

54.

55. es5 500000 505 eriaed” O JEL D0"Eo

TC. DOLDEIT

1. B5%en edorgo (overlapping) esgeo
E0E

2. OfETOTmO BB AT5H00 S0 E30K
3. Brovo o), ¥8EEgs (indirectness)

3. indirectness of measurement S0
(A) 1 only (B) 2 only (A) 1 5@ (B) 2 5o
(C) 3only (D) All the above (C) 3 57Eo (D) 252
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56.

57.

58.

If a researcher obtains scores from a
sample of subjects on a test at different
time points, then he/she is estimating a
measure of

(A) stability
(B) equivalence
(C)
(D)

D) internal consistency

stability and equivalence

Which of the following does not refer to
the external factors affecting reliability ?

(A) environmental conditions, scope of
guessing, momentary fluctuations in
the examinees

(B) length of the test, range of total scores,
clarity of instructions

(C) Scope of guessing, length of the test,
clarity of instructions

(D) momentary fluctuations, range of total
scores, scope of guessing

Items with difficulty value of 0.20 to 0.30
are considered as

(A) most easy items

(B) easy items
(©)
(D)

difficult items

56.

57.

58.

28 BOFEHE I o SEHEE BESHo
(Sample) G3xo%); Heades Fodd e DI
LOWT D)0 ?

(A) ;&36@50

(B) 0o

(C) 58550 500010 Moo

(D) eougs dorssso (Consistency)

208 T%¢3S° D DFHICTIBX0 (DerIBHoD D
SIS0 S°) 9

(A) 50355 5038000, &35 505, 553809 oy,
5e38209 TOVEeTRD

(B) 355508, Booso Messo T, Ko s

(C) &ess® 505, 35 A, S50 R

(D) $e3520% Troviersen, 8o NAease %,
&80°008

3‘)@265@(;033 0.20 5006 0.30 58 Ko @070k

(Iltems) O Désorr eI 9

A) TR L00gR00 e9oTeed

B) 00850 esozren

C)

D) rer 85208 e9ozen

EBINO 90T

(
(
(
(

D) most difficult items
59. {1rg s dowodow So BOD FTrw
59. Arrange the following steps of G300, (5507 Beodocs
microteaching in a sequence ain®
1. D3
1. Feedback 2. pysusess
2. Reteach _
3. Plan 5 %
' 4. &S
4. Teach .
5. Replan 5. H3&s0
(A) 3, 5’ 4’ 2’ 1 (B) 3’ 4’ 1’ 5’ 2 (A) 3, 5, 4, 2, 1 (B) 3, 4, 1, 5, 2
(C) 2,3,1,5,4 (D) 1,2,5,4,3 ©) 231,54 (D) 1,2543
[ 1 19 A-06-03 |




60.

61.

62.

63.

The characteristic features of an
interactive white board is

(A) A teacher can write and save

(B) A teacher can display what appears
on a computer screen

(C) A teacher can use it to demonstrate
instructional games

(D) All of the above

The family of models of teaching that
emphasises the development of
capabilities for interpersonal relationships
is

A) Information processing

B
C

D

Social
Personal

Behaviour modification

(A)
(B)
(©)
(D)

What is the process followed before
sending a message ?

(A) decoding

(B) data coding

(C) recording

(D) encoding

The Internet is nothing but a
(A) network of web pages
(B) network of networks

(C) network of hypertexts

(D) network of computers

60.

61.

62.

63.

RIHoSTran® (interactive) o 2o Aoy,
OFe3 EHOPLd

(A) &dgrasocsd Trosioc Ho80K0 JFRo
(Save) DoHxocd

(B) §o§y°§eo5 B OO0 T3 ETTOI0C
(@EBODNOE

C) edpraioc 7o Eeons BS809mdd
S 2
&OQIPAOWNOED

D) 5%
$550BE Howorre 0T 5@263 @?23260)4‘515)053(’5"50&

eic‘féﬁof) S 26?535"6"@ 630200 208 Te35°
fD@ 9

(A) S5m0 Foeao

(B) croaos

(C) =8rs

(D) (S8 $O5US

Dod 7y (Mmessage) Hodhod S0l
9000y (RIEOH A ?

(A) wose D& (Decoding)

(B) ®50°med vosdso (Data coding)
(C)

(D) ossso (Encoding)

IS

woBeso (Internet) &6 .8

(A) eorwroddere Hew S350 (Network
of web pages)

(B) ds>rSfore D570 (Network of
networks)

(C) @8F008 5535°0 pod o VITITo
(Network of hypertexts)

(D) Aeadd oXoolzre Durr*So (Network of
computers)
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64.

65.

66.

67.

Percentage of reservation given to

persons with hearing impairment in Govt.

Jobs is
(A) 1% (B) 2%
(C) 3% (D) 5%

Dyslexia means

(A) partial inability to read

(B) partial inability to write

(C) partial inability to calculate

(D) partial inability to concentrate

IEP in special education stands for

(A) Integrated Education Programme

(B) Inclusive Education Programme

(C) Integrated Education Plan

(D) Individual Education Plan

Sequential teaching facilitates learning

among disabled. Identify the correct order.

(A) Naming, identification, matching,
sorting

(B) Matching, sorting, identification,

naming

(C) Matching,
identification

sorting, naming,

(D) Identification,
matching

naming, sorting,

64.

65.

66.

67.

05 &GS #ies P50 SOND B0t NS

©&5S Beronoye (Reservation) 7o Jo® 9
(A) 1780 (B) 270

(C) 370 (D) 5o

‘edBpaons’ (Dyslexia) essme
(A) 5eses0 8 esogs

(B) Trobeiod” rgs esmogs
(C) redotsciol” 38 ersogs

(D) I g esSogsd

BB 2558 |EP 800 773" DA 20000 9
(A) 30e306E 2SS @FTrdd

(B) 50585 AcoisS Freso

(C) 30306 eSS TS

(D) 308G JeEDS TS

&0 &' w¥nd” (Disabled) ez
g0 D00, TGN, KB B8 HQowed
(A) 2808, FHQOWE, 2BHEWLd, HHDATH)
(B) 23565060, DAL, FHBOWE, 287008
(C) es085t08), DWOT0L), 287082, HHGOWEd

(D) 00w, 287,082, DML, 2383
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68.

69.

70.

Arrange the following categories of

intellectually challenged on the basis of
their ability from highest to lowest

1. Custodial care

2. Minimal care

3. Trainable
4. Educable
(A) 1,2,4,3 B) 2,3,4,1
©) 4,3,2,1 (D) 3,4,2,1

IEDSS scheme is meant for
(A) Primary
(C) Higher

(B) Secondary

(D) Vocational

Which of the following Commissions
made the statement, ‘A sound programme
of professional education of teachers is
essential for the qualitative improvement

of education’ ?

(A) Secondary Education Commission
(B) Indian Education Commission
(C
(

University Education Commission

)
)
)
)

68.

69.

70.

TO 0 THT 50 SETOTT DEHE HTQEDAD

(Intellectually challenged) Soroo 535
500 B 0% HEE kool

1. SS9 S5 SHIERD T

2. S5 OSSR T

3. 35ed FOSHORS T

4. Des5550 FOCSHONS T

(A) 1,2,4,3 (B) 2,3,4,1
(C) 4,8,2,1 (D) 3,4,2,1

IEDSS 56550 208 738" 92 £082080008 9
(A) a0 (B) o0

(C) &no (D) &8

208 T¢38° D Z)CSD§§§)QK>\5 “FRoETES DGO
200P0B0WEES e@m@’é&i}o@&) 2.5 59353@326

bo)e‘_?o 002008 S)CT’?S ?623@505&) e‘é?./bc@é@’ 9
EJSL’ZIO&

(A) 280ed g SW3S
(B) aro&oi Doy S
(D)

D) Teacher Education Commission D) edargatt dovg S0
71. The prime roles of teachers’ organization | 71. &G oio0 So00 A%, PP TG Sobd
focus on 636" Hedp TodgyBRHT 00
1. Service matters 1. &l ool A3ares
2. Parent teacher relationship 2. BYS0ELOV G IR 000
3. Professional development of teachers 3. eﬁ"’zs"egoiw@ HBRE 70
4. School- community relationships 4, ETO—O00TAN00 LHOOTTO
(A) 1and 2 (A) 1508050 2
(B) 2and 4 (B) 2 500010 4
(C) 3and 4 (C) 3 508010 4
(D) 1and 3 (D) 1508050 3
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72. At what level of teacher education
innovation should be an integral part ?

(A) Elementary level
(B) College level
(C)

(D)

Secondary level
At all levels
73. Match the method required for preparing

teachers for different special schools
children.

—

a) Mentally retarded . Braille

b) Hearing impaired 2. Deficit oriented
approach
c) Visual impaired 3. Task analysis
d) Learning disabled 4. Sign language
a b c d
(A) 3 4 1 2
(B) 1 3 2 4
(C) 4 2 1 3
(D) 2 1 4 3

74. The components of teaching in a sequence
is arranged as

(A) process — product — presage
(B) presage — product —
(C)
(D)

D) presage — process — product

process

product — presage — process

75. What is the sequence of emphasis in

inservice teacher education programme ?
(A) interpretation, recall and application
(B) recall, application and interpretation
(C)

(D)

recognition, recall and application

recall, interpretation and application

72. &TrOD 3&5583 D ﬁ(;oaoé’s PNear) BTN
&o® 9

(A) 8005 SREN

73. IV @6&595&‘ TETOO 2o ST éﬁ"’médba@éo
HBATPED AL @935 éd;ﬁod%oé ‘o/ocgéoeéo

23BIGVOC

a) SrSRE R0 So0d 1. @owd
b) EserpiosoT0d 2. &% eprdd oo
C) HNPZ50 Sor0sS 3. =5 é’)é{)@
d e WIFIT” ©BE Sodd 4. oz g,
a b c d

A3 4 1 2

1 3 2 4

4 2 1 3

M2 1 4 3

74, 5°558°) 9070 S 0BG
(A) ©IE0 — $BO — BWOEIBTI)
(B) 52000508507 — 90 — (D&
(C) 53980 — B000BETY — IGO0
(D) 20008525759 — (G0 — 5080

75. 5&@50@6 é@"’@‘g&i} g)@"é S_°C5§L§S§JO @“CT’?@ZSO?T"

SR &0TdyS (550500 808 38" D6 2

(A) Togargso, DBesses 5800 eo9gRo
(B) e300, @9505850 £o80K0 TErsdo
(C) Mmoo, Yisesdes 000k @kasgvo
(D) R8s, TErsoo So0aks @BoNdso
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Space for Rough Work
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